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Introduction to nTa movs

7171 noon, which concludes the order of 2523 751, is the only Twbnon any of the mnoopn in 11370 770 although it addresses issues of i 1o'K which are,
as such, universal and applicable at all times, many of the determinations have an impact on 1770 as well. There are numerous concepts which are sui gene-
ris to /772 and they will be explained and introduced in their place. A key word used in these first two nvawn is “non’, which means “habit” and denotes a
woman’s regular menstruation, the schedule of which is reliable. Further on in the noom, we will analyze the parameters of noN 15 WY WK or NON 715 PRY

39.1.1
2a (& mvn) > 3b (w1197 19711 125 2'87)
I & mwn: dispute Y7n/'8nW regarding impact of o7 n»R7 for a woman with no non (see note)
a NP "INPY 11” — we only regard her as nkno from this point on, no retroactive nrxmv-impact
b 55 "npah npan” — we regard her as nknv retroactively from her last np*7a — even if many days ago
c o2pom: neither — rather we take the lesser of nTpab nTpan and nynY nyn (24 hours)
d Exceptions to dispute: a woman who has a non
e And: if she checks with 0y (his and hers) before and after wnwn, this counts as a np’12 and cuts into nTpa% nTpa and y"Hyn
I amwn: application of "nyw 777 (all women according to 'knw and non 1% WW NWR according to all)
a If: she was sitting on a bed and working with m v, then moved away and saw 07
i Then: she is nRNY but the MmInv are unaffected
b Note: even in those circumstances where she has retroactive nkmv, she still begins her count of 071 'n> from n»”x1

Il Exploring dispute 55n//xnw

a

Approach #1: 8nw’s reason - she has a n1nv npn, which isn’t overturned until she sees o1
i 5571 (would answer): we only apply Xp»nT nptn when it has no challenge from itself
1 But: a woman sees 07 from her own body >she doesn’t maintain her nptn
ii Challenge#1: 2:1 mxnpn — if a Mpn was measured and found lacking, any nm nv that had contact with anyone who used it are considered mxnv (going
back to the last time it was measured and found to be nxv 'n) (i.e. 19105 NRMV)
1 Note: this challenge attacks 570 as well, as he only deems her retroactive nkmv to be pavn; in mxrMpy, it is WM
2 Answer: in that case, the fellow who went into mpn had a nkmv npn >presume that he didn’t Y20
(@)  Challenge: the opposite — the mpn had a X9n npmn > presume he did 210
(b)  Block: we have a 7on mpn before us
(i)  Counter: we have her 07 before us
(ii)  Answer: she may have seen just now
1. Counter: the mpn may have just become 7on
2. Block: in the case of the mpn, it gradually emptied; here, when she had o7, perhaps it was just now
a.  Counter: perhaps she also had p7 earlier and just saw it now, when it was more voluminous
3 Rather: in the case of the mpn, there is a double-challenge to nptn
(a)  Contending event: nRmv npm of the fellow
(b)  Challenging event: Yon mpn
(c)  But: in the case of 07— only one Xmy» (oT)
iii  Challenge #2: n:1 mmMIn XNoOIM — if someone was separating n"1n from a barrel of wine and later checked it and found that it was vinegar (according to
17, who deems ymin to be a different pn than 1), for 3 days, it is '8, else — pav
1 Meaning: either the 1% 3 days since last np»13, it is deemed 17, afterwards, (until current np»12) — Pav (3NY ")
(a)  Or:last 3 days, considered »®™ ynin; beforehand (back to previous np»1a) — pav (9"2)
2 Answer: in that case, the wine had a Y20 npmn > presume that he wasn’t wman
(a)  Challenge: the opposite — the barrel had a 1 nprn > presume he was w190
(b)  Block: we have ymn before us
(i)  Counter: we have her 07 before us
(ii)  Answer: she may have seen just now
1. Counter: the 1 may have just become pmn
2. Block: in the case of the 17, it gradually went bad; here, when she had o7, perhaps it was just now
a.  Counter: perhaps she also had b7 earlier and just saw it now, when it was more voluminous
3 Rather: in the case of the noan, there is a double-challenge to nprn
(a)  Contending event: 920 npm of the wine
(b)  Challenging event: ypmm
() But: in the case of 0T — only one Xmy» (oT)
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iv  Tangential challenge: ruling of mpn (*RTN NRMY) against n’an (pav)
1 Answer: Rr12 of nan was authored by w” who also deems mpn-ruling to be pav (7M1 it is M. 72 - PHn)
(@) Comment: 13127 and v™ both inferred from nvo
(i)  pa7just as nNOID is a pav yet we treat her like 'xm1 (nY»a% "M, if she refuses to drink, loses nan3)
1. Similarly: we treat this pav like 'R
2. Challenge: infer fully from nvo, and have 1”012 pavo be deemed Mnv (status of NVIL depends on N1 NY)

a. Answer (1237): in re: n01v, discretion is vital; in re: mpn (e.g.) — no relevance
b.  Challenge: all 1”772 nRmY Mpav are deemed NV
i. Answer: in this case, there are Rmy»1 'n7n (as above)

(i) ™ follows NVY; just as NMOID is 1”112 NNY, so too here

1. Challenge: if so, follow nvo and deem >"n72 PaL as 'RTN RNV

2. Answer: in the case of v, there is circumstantial evidence ("1p and n7'nv), unlike here
(i)  w™ (alternative answer): he infers NRMYV QO (n920) from NRMY N>NN

1. Just as:in re: becoming &nv, we regard 71”7171 pav as "o

2. So too: in the case of mpn, we regard 1”072 pav as NNV

a. 237 distinguish; in nkmv n%nn, we won’t change his status fo Xnv without clear evidence
i Whereas: in nRmv 910, we won't change his status from &nv without clear evidence
v Challenge #3: 2:v nm1 — if a dead 7w is found in a »an, deemed X0V retroactive to last “clean check” or »an-sweep
1 Same answer: 2 challenges to n1v nptn; local %W and D¥1w that come from elsewhere
Approach #2: '8nW’s reason — a woman feels when she has o7 (didn’t feel it before that)
i 557 she may have thought it was a nwx1n of urine
ii Challenge: what if she were sleeping?

1 Answer: even if sleeping, she would feel it, just as someone feels the need to urinate while sleeping
iii  Challenge: what about a now? (who doesn’t understand such feelings)
1 Answer: 'RnW agrees that a "o doesn’t have nnyw n»7
2 Challenge: »8nv’s wording is win %3
(a) Answer: means “all competent women”
(b)  Challenge: why not teach ow1 (without %5”)
(i)  Answer: he taught “53” to counter 8"’s approach (x:R) that only 4 women have inyw 1
3 Challenge: does "®nw reject all mnna? (i.e. a stain on undergarment, which may lead to y19n7 NkMV)
(a)  Answer (28): 'knW agrees that n'nnd are MNOY, since she wasn’t near blood — must’ve come from somewhere
Approach #3: '8nW’s reason — a woman sees 0T when it comes
i 557 the vaginal walls may have held it up ("Rnw — it doesn’t work that way)
ii Challenge: if she is using a 70, shouldn’t "8nw’s position be weakened?
1 Answer1 (»2K): 'RnW agrees that if she uses a 7, can’t rely on her n”x3
2 Answer2 (837): even a regular T constricts and lets 0T out; but *8nw would agree if it were pinT
Analysis: difference between approach #1 and #2-3 — whether we can challenge from mpn, nan and »an
i And: difference between #2 and #3: 7m (or pnT TN)

ii Support: for approach #3: xna - %n challenged '&nw from box that had m 1V in it when in one corner, and when moved to another corner, they found
a p in it — that the M nv are mrnv
1 Response (’5nv): the box has a bottom, not the woman (i.e. the 07 comes directly out)

Approach #4 (827): "RnW’s reason — not to limit 1”9

i Support (&17273): "Rnw defended his position by claiming that if not, we would be interfering with 9”8

ii challenge: above-xn»11 where Y90 challenged 'knw in terms of the box
1 answer: 990 didn’t understand *xnw’s reason and attacked as per 'nr mn x;
(a)  ’npw: even per that reason, he has a defense — box has bottom
iii ~ Challenge: last Xn»12 must be explained by approach #3
1 Answer: Y90 conceded point #3, but pushed for a 30
(a)  Response (’¥n®): no »v, in consideration of 18
(b) 557 not promoting 30 for 19, just for MmINv
(c)  ’npw:if we employ » v for manv, husband will be concerned and abstain

© Yitzchak Etshalom 2012 R www.dafyomivicc.org




